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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]

I 1
3500  —>¢ EcFzExp ! $50834265083
+ Ecdef I “"ffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffff
3000 4 —¢— EcParam
T WATEI_BC s s s s o R R A A A KA A AR A A D ’f‘ L
2500 Sl i
1
2000 :
1
1500 :
1
1000 :
Warning: col [ EcFgro’, 'EcPltng'] is missing 1

500

25

50

75

100 125 150 175



3500

3000

2500

2000

1500

1000

500

Plot [ ECopt’]

0 25 50 75 100 125 150 175



Plot Sensor and FgRec Data
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Plot [['I",

“lopt'], ['T,
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-5 0
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